Handout # 5            Case Study              Read: 220-221                         Ontario’s Disappearing Farmland Solution   Name : _____________________

1. Define the following terms:
a. Urban Sprawl: _______________________________________________________________________________________________________________________________________________________________________________________________________________
b. Greenbelt:
_______________________________________________________________________________________________________________________________________________________________________________________________________________

2. Explain two ways that urban sprawl affects agriculture.
a. _______________________________________________________________________________________________________________________________________________________________________________________________________________
b. _______________________________________________________________________________________________________________________________________________________________________________________________________________
3. Make a prediction about the future of agricultural land surrounding St. John’s and explain your prediction.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
